PINZA FRENO POSTERIORE MECCANICA
Tav. 43 REAR MECHANICAL BRAKE CALIPER BSC

a0 In vigore dal - Effective from 15-12-2021 E




BSC REAR MECHANICAL BRAKE CALIPER

Description

b4
Tax included

A |0116.CO Pinza posteriore meccanica BSC BSC rear mechanical brake caliper 0
B |0116.C1 Semicorpo pinza post. Meccanica BSC BSC half body mechanical rear brake caliper 0
C |0116.C2 Leva pinza meccanica BSC Mechanical brake caliper's lever BSC 0
D (0116.C3 Pistoncino pinza meccanica BSC BSC mechanical brake caliper's piston 0
E |0116.C4 Perno leva pinza meccanica BSC BSC pin for mechanical brake caliper lever 0
F [0116.C5 Perno spinta pistoncino pinza BSC Pin for brake caliper's piston push 0
G (0116.C6 Perno tirante filo pinza BSC BSC pin for brake caliper's cable 0
H ]0082.07 NyY4-2277)29" BSM Pad's return spring for BSM rear brake caliper 385
I ]0082.08 Nk Ya-vi& W h5— BSM Tube for pad's screw for BSM rear brake caliper 869
J  [0082.E15A Y77 L—%nyh'E'yBS6-BSM-SA2-BSD/LONG/57mm |Pad's pin for BSD - BSM rear brake caliper 341
K (008243 Y77 L—%nyF ZA—%— 0.5mm BSM Pad's spacer for BSM rear brake caliper Thickness 0,5mm 506
L |0082.J4 7°V—%n"9F BSMx2 BSM rear brake caliper's pad 15,840
M |0116.B8 F=INAT VT )N -y Circle spring 385
N 0226.DB Supporto pinza posteriore BSC d.180 BSC rear brake caliper's support d.180 0
0 |D.M5C AT ST SN VL] Metal self-locking nut M5 mm 33
P |D.M6A.B. 7R3 yM6 (F4AY) A.B. nut M6 mm 22
Q (RES A7YYH'79Y%— D.8X15 Spring washer @ 8 mm 33
R |V.TCE5X30 TV—%NyY4-V%4y7"H b 5x30 TCEI screw 5x30 mm 44
S [V.TCE8X20 F4y7"K Wb 8X20 TCEIl screw 8x20 mm 66
T [V.TCE8X35 F497°H b 8x35 TCEI screw 8 x 35 88




